Review 1 Answers, Fall 2015
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1. (a) 5= 3,16Y4 =2: (b >€ 161/4 - =0,v-8=-2;(c >g 164, ,\3/—8,0.9,5,0 08
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(d) V2,75 () =, 164, 2, V=8 09,2 0.08, V2,
2. (a) commutative; (b) distributive; (C) associative; (d) inverse; (e) identity
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3. (a) 32; (b) =5 (¢) ——
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5. (a) y® — 18y + 8y; (b) 16y* + 42y — 49; (c) 16a* — 24ab + 9*
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. (a) 3(z —4)*(3z — 11); (b) (3z + 1)(2x — 5); (c) (Ta* + 3b)(Ta* — 3b);
(d) 8(y — 522)(y? + 5yz? + 252%); (e) (z — 2)(x + 2) (22 + 3); (f) 22(4 — 32)Y/3(4 — 5x)
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11, (a) 10V () 295 (0) 222, (&) 03 + 5y o)

12, () 2 = 5: () 2 =~ (¢) 2 = 111(0kjf)
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9. (a)
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13. 13 inches on each side

14. 8 miles

15. $55,000 at 5.5%; $35,000 at 6%

16. (a) $4.31; (b) 47.6 years, around 2003

17. (a) 13 = 3i; (b) =19+ 9¢; (c) 19+ 174; (d) 7 — 244; (e) 1 — 2i

18. (a) —i; (b) 1; (c) —1; (d) 4



21. 3
8

22. 6.25 sec and 7.5 sec



